ooddonoooooao
(0O 2006/04/160 00 2006/04/23 00000)

Report 1. (0000000 SchrédingerDD[I)I:II:II:IDDDDDDDDDDDDDDDDDDDD
00000000 k£, 000 ¢c0000O0O0OO A, 00 A=h/2r 0000

1. Jgooooooooob rooogooobooooooooboooooo DDDDDDD
Ov~v+dy 00000000 O00O0CDOOOODOOOOOO SWVQdV/CBDDDDDDDDDD

nfufafalufufalaln DDDDDDDDlQOODDDDDDD E/V:/ (c) | x 8m2dv/c?

0000000000000000000000000O0OoO (e)DoUOD0oOUOOOoOooOoO
oobooobooOooboooboyOOOOOOO0OOOn DDDDDDDDDDDDDD
oboocoooooooboobobooboooooooboboboboobooooooog vOO

DD(,)DDDDDDDDDD (0000)00000000000000000000

gb200000000000000000DO

2. 000000000000 poO0OO )\:DDDDDDDDDDDDDDDDDDDDD

ooooOoOOOOO0O000ooOoooooooooDOOBorODOOOOOOOOODODOO
Ut 000000000 pOOO0O0O0OOCO0OO0O0OO0O0O0DOCOODOOOOO0OOOO00O00O0

0o DDDDDDDDDD(n:1,2,-~-)DDDDDDDDDDDDDDDDDDD
0 L:DDDDDDDDDDDDDDDDDDDDD mO0000000000 V= —¢2/r

000000000000000000000000000000000 H(r,p,,0,ps) = ()
0000000000 po=L00000000000000000000 »r00000000
0000000000000000000 LO0OOO E(L):DDDDDLDDDDDD
000000000000000000000000

3. 0000000000000 00000000DO0DU0O00OOU0O0O0? 000 k=27/A00
0000 w=2m 0000000000000 O00C00O00O0 ¢,00 20000 6k(z,t) =)

000000000000000 (00000w) 000000 vgq=p/mO000000000OO
000 p0 00 k0000000000000 OOOO E=p?/2m 00000000000

O0b0 FO0OD0O0O0 wODOO E:DDDDDDDDDDDDDDDDDDDDDDDD

obooboobooobooboooboboobbooboobooooboooboooon DDDD
000000000 Kk k+0k0000000000CCOCOOOOOODODODO k000000

50(x,t):9k+5k(x,t)—9k(m,t)zékmeO DDDDDDDDDD ugzmmm
0000000000000 0000000wd kOED w0000 hw:DE:D
0000000000000000

400 FO w,p0 kOODDODODOODODODOOD00000000000000000000O0OO
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDEH,
pHDDDDDDDDDDDD DDDDDDDDDDDDDDDDDDDDDDDD
0000000000000000000000000000000000000 EO pOO

00000000000000000000000000000000000 Y(z,t)O0O0O0O
oooooobooooobooooon

o n* 92
ihob(@,t) = = 5 otb(e,t) + V(@)h(a, 1) (1)

gogd



Report 2. (00O 0O0ODO)

1. 00000000000 TO0O0O000D0O0U00 E0D0O0ODOODO0OOO0OD exp(—E/KT)O0
000000oo0o0oo00oo0ooU0 vOO0OOOE, =nhw(n=0,1,2,..) 0000000000
oobooooobooobooooo roooobbo0 »vy0000D0O0O00DO00DO0O0 <EBE)>r
oooono

2. 00 <E,> 0000000 (hw/kT <1)0000000 (hw/kT>>1)000000000
000000000000000000000000000

Report 3. (CO0OOOODO)
00 N0ooooo mO000D0ODOO0OODOO0O00000O0O0O0O0O0O0OD0OD0ODDODDODDOODOOO FE =
m2ct+p?c2 00000000 600000000000 XO)OODOOO

Report 4. (000000000 DO00O0O Hamilton-JacobiOO OO OO)
000000000 (0000000)000000000000000000000 ¢(x,t) = exp(iS(z,t)/h)
goooopooSooooooO0UooopDUdUboo0D0D h—-00000 SOODODDDOOODOOO



